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ABHINAY MATHS CLASSES

COMPOUND INTEREST

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Qs.

Qo.

Q 10.

Find the C.I. of Rs. 7500 at 4% per annum for
2 years.

7500 %. T 4% I L W 2 O § fHa1 wwhafs
ST B2

Find the C.I of Rs. 7500 at 4% for 1 year. If the
interest compounded half yearly.

7500 %. T 4% i aMMeh S E | WA H GG
gAItSa weRglg = foraen grm?

What will be the C.1. of Rs. 10,000 at 5% per annum
for 3 years.

10,000 . W 5% i X W 3 Tl H1 THJ(G S
e grm?

Find the rate of interest, if the S.I. for 3 years is
Rs. 1200 and C.I. for 2 years is Rs. 860.

3 TIet T THRO S 1200 % T 3R 2 9 H
whdfg SIS 860 F. €| ANl i X G HITSY
Find the rate of interest, if S.1, for 5 years is Rs. 4000
and C.I\ for 2 years is 1632.

5 AT T TIEROT S 4000 T. € S < FieA B
whals =S 1632 %. T S 1 &L A1 Ty

Rs. 2500 was borrowed for 3 years. What will be|the
compound interest if the rate of interest for first year
is 3% per annum, second year is 4% per annum and
for third year is 5% per annum respectively?

2500 % 3R o T wwgfs &< w1 R/ 9
3 g W% foRaT wsafs = 3 g oAk )
S Tt 3% AMh, TE Tl 4% At 3R FR
T 5% it 8?2

S.I. on a sum of money is Rs. 750 for 2 years at 10%
per annum. Find the C.1. on that sum for 2 years.

frdt ofer | 10% =t affed | ¥ 2 9w @
FYROT S 750 % 21 2 Wl 1 whdlg o
FT B?

Find the Principal amount. If the difference of. S.I
and C.I at 12.5% per annum for 3 years is Rs. 750.
12.5% %1 W 3 TSl & HEROT <479 3R TehdiG
S 1 AW 750 T. € Al qorur = 2?2

Find that principal amount on which the difference
of interest for 9 months yearly and quarterly is
Rs. 18.30 at 20% per annum.

20% T AR X B FoRE gerem #t 9 wER & fed
WE & = 1 A= 18.30 . T A JoAu 41 82

A sum of money amounts to Rs. 650 in 1 year and
Rs. 676 in 2 years. Find that sum and rate of interest.

T YA Thgfg A H1 WA | WA F 650 T
g S B 2 W A€ 676 T. Bl S 21 SATS W1
AR geer A Hife)

QIl.

Q12

Q13.

Q 14.

Q 15.

Q 16.

Q17.

Q18.

Q19.

A sum of money amounts to Rs. 2400 in 3 years and
Rs. 2520 in 4 years on C.I. Find the rate of interest.

e fHAeE Tkl =S & W 3 91 § 2400 T.
T S § SR 4 WA | 2520 T. B W | AW H
T @

A sum of money amounts to Rs. 4500 in 2 years and
Rs. 6750 in 4 years Compound Interest. Find the sum.

FHE ¥ 2 WA § Thglg oS I R G 4500 .
B S B 4 W H 6750 T B ST €| AV 91
ey

A sum of money amounts to Rs. 3200 in 4 years and

Rs. 8000 in 8 years on compound interest. Find the
sum.

HIE U7 THI(G S F R H 4 T H 3200 % B
ST € 3R 8 Wit | 8000 T. € Al Heted W i

Assum of money doublesitself at compound interest
in4years. In how many years will it become 8 times?

HE U7 THRG AN H N Y 4 A F 2 AN
ST 21\ GRS AR 8 TAT e W fehe ae
am?

A sum of money becomes 3 times of itself in 6 years

at compound interest. In how many years will it
become 81 times?

I o[ Thglg S B LW 6 WA F 3 T F
ST B TH U HT 81 A B H fRa o
Y

A sum of money becomes 4 times of itself in § years
at C/1. In how many years'will it become 8 times.

HIE ¥F 6 W | 4 A B S {1 TH A b
8 T B H foha ae awim?
A sum of money becomes 8 times of itself in 12

years at C.I. In how many years it will become 16
times of itself.

HIE o 12 el | 8 T 8 Sl &1 59 ST i
16 T B | foraa aek e ?
A sum of money doubles itself in 10 years. How much

time it will take to become 8 times if compounded
half yearly?

FE U9 10 T § ST gt g W 2 A
21 ST @ ql sreferdta WS € W 8 T e
fora ae errm?

A sum of money becomes 16 times of itselfin 2 years
if compounded half yearly. How much time it will
take to become 27 times if compounded yearly.

I o7 2 I H A Afata gaifsa &t af 16 T
B S #1227 T @ A fRae @5 ot Aty o
¥ W TH 9R FAfsa fHer sme?
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Q 20.

Q21.

Q22.

Q 23.

Q24.

Q 25.

Q 26.

Q27.

Q28.

Q29.

Q 30.

A sum of money becomes 9 times in 1 year if
compounded half yearly. How much time it will take
to become 125 times if compounded yearly.

i o afg srefasia wofsra = d, 1 9 § 9 T
B S ?1 125 T eH § fohe oo o Atk 3
e § T aR FAtsa fRar sm?

Compound Interest on a sum of money is Rs. 350 in

4 years at 3 31% per annum. Find that sum.
3

FE 49 W 4 WA H 33%% w9 R G
TG AN 350 T ® A oo w6 i)

A sum of money amounts to Rs. 270.40 in 2 years
at 4% per annum. Find the sum.

2 W H 4% T T H HIE TAUE 270.40 T. BT QT
T g 9 R

A sum of money amounts to Rs. 5832 in 2 years at
8% per annum. Find the sum.

HE T 8% i aNftieh X T 2 T H 5832 . B
ST R AL 0 A

A man borrows Rs. 3000 at 10% per annum and
promises\to pay Rs. 1000 every year. If he wish to
finish all his what amount he have to pay in third year.

] 3MEH 3000 % BUR WHT 10% T T T ARG &
g 1000 ¥. g w1 GRI FR A A A
faT = fF sl U S 2

The difference of S.I and C.I on an amount of

Rs. 30000 for 2 years is Rs. 147. What is the rate of
Interest?

2 | 1 WUR] A1) 3R wehdfg SATSl o1 3=l
147 % B 9% geter 30000 & € Al A 1 T
T il

The difference of S.I. and C.I on a sum at 10% per
annum for 3 years is Rs. 31 Find the sum.

3 |l 1 WIUNO] o418 3T Sehefg SATSl o1 3=l
31 % B AR W 10% T, A gaeF [ i)

The difference of SI and CI on a sum at 5% per
annum for 3 years is Rs. 122. Find the sum.

3 |l T WIUNO] o418 3T wehdfg SATSl o1 3=l
122 % 21 A 5% 2, A g 7@ Hife)

The difference of S.I and C.I on a sum at 5% per
annum for 3 years is Rs. 36.60. Find the sum.

3 |l T WIENO] 1S 31 el SATSl o1 3=l
36.60 & B1 AR R 5% T Al GALF HA o)

The difference of S.I and C.I on a sum at 5% per
annum for 3 years is Rs. 1525. Find the sum.

3 |l T WIENO] 1S 31 el SATSl o1 3=l
1525 % T A L 5% T Al GoAvF F[ ey
The difference of S.I and C.I on a sum at 10% for

1
15 years is Rs. 244. Find the sum, If compounded
half yearly and also find the principal.

Q3l1.

Q32.

Q33.

Q 34.

Q 35.

Q 36.

Q37.

Q38.

1
15 W T HER SIS AR Whghg oA W

IR 244 . 1 AR T 10% Afvfer T IR g i

arelordta Haifsa feran ST © af geter 3| s
The ratio of difference of S.I and C.I for 2 years

and 3 years is 8 . Find the rate of interest.
25

YN &1 3R Thdfg =S & 2 9 & R

aﬁmw@aﬁwnaam% 2 1 =T v w1

Ifthe ratio of difference of S.I and C.I. for two years

4
and 3 years is IER Find the rate of interest.

Ifg w1 3R whgfg =S & 2 9 $iR

% 2, @ T @ S

Rs. 6800 is to be paid in two equal installments at
CuL. Find each installment if the rate of interest is
12.5%.

6800 €. IHR o TMT) 58 Here i & TR-ER
ol ® g €1 AfE W 12.5% 7 @ <A R
FareTi?

Rs. 16224 is to be paid in two years, Find each
installment if rate of interest is 4%

16224 . < 91 & ford Suw fo@ T afg <2 4%
2 @ Y9 T foradt gnft?

Rs. 2550 \was botrrowed for 2 years. Find each
installment, if rate of interest is 4%.

2550,%. SUR for@ ™, Afe T 4% ' 2 et
TR T forat M2

A man purchase a scooter with cash payment of
Rs. 24000 and rest amount to be paid in equal

installments of Rs. 10584 at C.I. Find the price of
scooter.

T AR TR 30 I W T € fF 24000 %
31eft 3 qen w g8 RN W 5% I R W THI(S
=9 &1 & SER A fHed 10584 % § g
21 TR H gA HEa F A

Radha deposit a certain sum of money every year
at 8% C.I. After 3 years Rs. 54783 was in her

account. Find the sum of money which she deposit
in her account every year.

T 91 & Y& H 8% IohgG! TS i 8% i
WY HD [ 5 HI 213 e B 3d H I Il
werd € foh S8 @n ¥ 54783 %. B feramn-feman
¥ B WIS ST HI eft?

Rs. 39030 is divide between 'a' and 'b' in such a way
that amount given to 'a' on C.1. in 7 years is equal to
amount given to 'b' on C.I. in 9 years. Find the part
of'a". If the rate of interest is 4%.

3 W& & AR T ST
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Q 39.

40.

41.

42,

43.

44.

45.

46

39030 T. Fl ¢ 3R b H 39 TR AT T4 TH 4%
F JHIG! AN FH W W ¢ FH 66 7 9@ 1]
3R b 1 feed 9 |t a8 T 21 ¢ 1 fEEE ua
F?

1 47.
A and B are said to spend their income at 62%
per annum, If they do so for 8 years and 10 years
then they left with equal amount after starting. Find
the ratio of their incomes.
A R B W1 %81 T R 9% ST S H R WA
48.

6%% H WY @9 H AR A R B FHA: § G

3R 10 9 qF TH & AW 1 YE F 1% I
% I g9 TR S S 2 A SF B 3

3T R 17

Mohan invested an amount of Rs. 15000 at com- | 49-

pound interest rate 5% p.a. for a period of 2 years.
What amount will receive at the end of 2 years?

AEF-T 15000 %. ThIfG S TL,5% Ffd a8 i
WRW2 99 & fAu o) 2, a9 & 7d |, 39 |0
fagem focm?

Find compound interest on Rs. 5000 for 2 years at  50.

4% per annum
5000 % WR)2 98 % faw 4% ufq od wT K 9
Tehdf5 TS 1 B2 |

Rashi invested Rs. 16000 for two years at compound

interest and received an amount of Rs. 17640 on | 51.

maturity. What is the rate of interest?
TR 16000 %. T a4 & U Thglg == |
2 IR W 17640 %. faged faemn €1 = & T

F B2 52.

1
Find the amount of Rs. 8000 in 15 years at 5% per

annum compound interest payable half-yearly.

8000 & W 1% o9 & faw 5% 9fq af &t W N

refanfiier TS forean ST aren Sshgfeg =t feam | 53-

gAY
Find the compound interest on Rs. 1000 at 40% per
annum compounded quarterly for 1 year.

1000 % T 40% 9 o &1 T 9 SHIiHs Gafa
BN W, 1 99 § TAhglg AT foha g2

Find the compound interest on Rs. 4000 at 24% per
annum for 3 months, compounded monthly.

4000 % =S HIfE® HATSTT 8 T 24% Ufa a6
FH W W 3 A HT R TRgfg =AW B

Anu invests Rs. 5000 in a bond on which interest is
given at 4% per annum during the first year, 5%
during the second year and 10% during the third
year. How much does she get at the end of the third
year.

54.

31 5000 T W wiE § ey w8, W qgel o
4% 9fq a9 1 W H, TR T 5% TG TH BT W H
R dm Td 10% U ad W QY = A R
T ad & ofd ¥, 39 frat At faert?

What will be the compound interest on Rs. 15625

for 2% years at 4% per annum?

15625 % i AU W 2% o9 & fau 4% wfq
Y W W TR A {2

What will be the difference between simple and
compound interest on a sum of Rs. 4500 put for
2 years at 5% per annum?

45000 & T 5% Wa a9 H W H 2 9 & o
YN &I 3R whgls = | a1 S im?
If the difference between the compound interest and

simple interest on a certain sum of money for 3 years
at 5% per annum is Rs 61, find the sum.

et uafen W Az 5% 9fd o &1 W 399 =
IR, TR =T SR wehgls S w61 T
g, dhaE et fRa s

A sum\of money placed at compound interest

doubles itself in 3 years. In how many years will it
amount to four times itself?

A F1E oA 3 a9 B whdfg = W A @
St ®, qt fohae o # o =g 8 S?

At what rate per cent compound interest does a
sum of money become four-fold)in 2 years?

TG =S & foRad % At Fi X T R S
2 99 H SR 8 ST
A sum of money at compound interest ameunts to

Rs. 4050 in one year and to Rs. 4723.92 in 3 years.
Find the rate of interest per annum.

T a9 | THglg S W FE FIRT 4050 % &
S SR 3 ol | =% 4723.92 %, @ Sl e ufd
9 S HT L FA BA?

If a sum of Rs. 13040 is to paid back in two equal

. 3 .
annual installments at 3—% per annum, what is

the amount of each installment?

g 13040 T FI AIEAN S UMW A fFed |

3%%uﬁraﬁaﬁﬂmaﬂ=ﬁ%,aﬁuﬁﬁﬁﬁmaﬁ

YT fRaet g2

Nikita invested Rs. 8000 for 3 years at 5% Cl in a
post office. If the interest is compounded once in a
year, what sum will she get after 3 years?

faferar 8000 . 3 =t & fow 5% =1 whafs =
F LW THW H A9 w21 A e o
T R AT a1 S €, @ 39 3 a9 a. fohat
SFfeT fHer?
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55.  The compound interest on Rs. 2000 at 5% per 1875 %. W2 a9 T whafs <Al hi TR fRat B,
annum, compounded yearly for 2 years is Iqfz TEe a9 S F T 4% © 3R {{:ﬁ T 8% 22
2900 T R 5% WA o F wH 2 o H o 65. What will be the amount if a sum of Rs. 5000 is
gaiferd feha wshdfg =aT1 o g2 laced at compound interest for 3 years while rate
p p Y
56.  Atwhatrate per cent per annum will Rs. 1000 amount of interest for the first, second and third years is
to Rs. 1331 in 3 years. The interest is compounded 2%, 3% and 4% respectively?
yearly. 5000 %. 1 A% 3 =@ & forg HAw: 2%, 3% AR
1000 %. e wfder &1 S ¥ 3 a9 #1331 % @ 4% 9T o H W Y TG SN F I o
S, AfE A affeR wAfTa g €2 T, G s B
57.  Find the poresent worth of Rs. 9261 due 3 years | g6 What sum will amount to Rs. 15916.59 in 3 years at
hence at 5% per annum compounded yearly. compound interest, the interest for first, second and
399 & A% 5% Ufd 9 & W Y BE AU third year being 3, 2 and 1 per cent, respectively?
TSRt =T anfifes wAifSa i /, 9261 %. =1 STeft foRa erRIfer T 3 S § fase T 3%, 2%
B 98 e fee g R 19 i o BT T F 15916.59 = T2
58. The compound interest on Rs. 10000 at 20% per 1
annum at the end of 1 year 6 months if the interest | 67.  The compound interest on Rs. 800 in 2— years at
is calculated half-yearly will be 50 is 2
1000 & T 20% Jfd a9 I W H 1 99 6 oA !
A W, = sfafis T BN W, d%ats 800 T. W 2 A H 5% afE FT W H TS
=S fobamn gim? =S B2
59. A sum put out at 4% compound interest payable half 1
1 68.  On what sum will the compound interest for 25
1 tsto Rs. 6632.551n | — . Th i
. N T 2 opars. eSS years at 10% amount to Rs 6352.50?
g IR 4% AR Fohals =s & & 4§, fSen 1 ,
] | WW&TWZEHﬁﬁIO%QﬁHﬁHﬁR
; 1— ' . ,
Waﬁaﬁaﬁgﬁm%,zaﬁﬁ%nssaﬁ 3 T T 635050 7. B
ST 21 9% e R 0 R | 69. The compound interest on a sum of money for 3
60. The compound interest on Rs. 12000 for 9 months years at 5% is Rs. 1324105. What is the ‘simple
at 20% per annum, interest being compounded interest?
quarterly, is : ‘ s foheh eFufen W 3 9w H 5% aiften R ¥ Shafs
12000 %. R 20% Sl =1 1 < F SHeferen et SIS 1324.05 %. Bl ©, A WEROT <A1 501 T2
CIll ‘qﬁ:ﬁ am S 7
i 9 il 1 F: 70. The simple interest on a certain sum at 4% per
61. The difference of compounds interest on Rs. 800 annum for 2 years is Rs. 80. The compound interest
for 1 year at 20% per annum when compounded on the same sum for the same period is
half yearly anfluﬁ?:;t:;y is :ﬁ . e R W 2 TS W 49 afE W @ @
800 %. 20% 3t SUH, A % SHEAT SIS 80 . Tl 81 SH R W SEH R® @ iR
Tl A HT R TAM? , . '
) ) ) 71.  Ifthe compound interest on a certain sum for 2 years
62. The difference between the simple interest and the is Rs. 60.60 and the simple interest is Rs. 60, then
compound interest on Rs. 600 for 1 year at 10% per the rz;te o.f interest per annum is Y
annum, reckoned half yearly is : .
. fereht ermifen @ 2 ol § wehgls = 60.60 . ®
600 % T 10% Tfd a9 i T 9 STefafves Ao v 60 3 - -
# F AR, | T W W = R TG W““”“*&'“‘ B Al
=TS T SR BM? ' . .
63. In how much time does Rs. 800 at 5% per annum 72. ¥fthe compound .1nteres.t ona CeTtam sum for2 years
. is Rs. 105 and simple interest is Rs. 100, then the
compound interest amount to Rs. 882? .
sum is
foRae o7F | 800 T. 5% A1tk Tohdfls oS i & .-
3 8% % B ST ’ foret e w2 oo § wegfg =S 105 . ®
) ' , R TR0 = 100 %, 21 98 SFN o B?
64. What will be the compound interest on a sum of ) ) )
Rs. 1875 after 2 years if the rate of interest for the 3. The difference between simple 1ntere§t and compoupd
first year is 4% and that for the second year is 8%? interest on Rs. 1250 for 2 years at 4% per annum is:
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74.

75.

76.

1.

78.

79.

80.

81.

82.

1250 % W 2 98 & U 4% Ffd a9 R H
YR &I AR wehglg oA o1 S o1 B2

On a certain sum of money, the simple interest for
2 years is Rs. 200 at the rate of 7% per annum. Find
the difference in CI and SI.

et ot &1 2 oWt o 7% ufd a9 w9
YN A 200 T 2| =ehgfg oI SN WER0
S T A F B2

The difference between the compound interest and

simple interest on a certain sum at 5% for 2 years is
Rs. 1.50 the sum is

foRdl ¥afeT W 5% Ufd a9 ® W H 2 TN ®
RT3 =ehglsg oI &1 W 1.50 % B
T Y A B2

The difference between the compound interest and

simple interest. on a certain sum at 3% per annum
for 3 years is Rs. 27.27. The sum is :

foret oeifer W 3% wfa a9 w R G 3 Tt B
TIEROT =11 37 Tehafg =S 1 3/ 27.27 % 2l
T AN F B

The difference between the' compound interest and
the simple interest on Rs. 8000 for|3 years at 5%
per annum is :

8000 W 5% Wfd o I X | 3 W H IR
= 3R TFHfE =S & e H AR F1 M2
If a sum of money at compound interest amounts to

thrice itself in 3 years then in how many years will
it be 9 times itself?

FHE TR THRglg =S W 3 a9 § @E &
Fop 2 ST 21 Fred at § w9 T R A T
Bl ST ?

At what rate per cent compound interest does a sum
of money become 16 times in 4 years?

HIE ¥R fhan wfaem anfiies &1 R ¥ =hdfs
SN W 4 a0 § @ w16 A B ST ?
A certain sum of money at compound interest grows

up to Rs 12960 in 2 years and up to Rs. 13176 in 3
years. Find the rate of interest per annum.

HE U 2 o =gy =S @ 12960 T AR
3 9l ® 13176 % B W 1 Ufd o = A1 R
BAM?

What sum of money at compound interest will

amount to Rs. 650 at the end of the first year and
Rs. 676 at the end of the second year?

foralt o=y vedt ¥ @ ofq ¥ wwdgfs = 9
650 T I TR a9 & IFd H 676 . € Wwh?

A sumof Rs. 1260 is borrowed from a money lender
at 10% per annum compounded annually. If the
amount is to be paid back in two equal annual
installments, find the annual installment.

86.

83.

84.

85.

87.

88.

1260 % I AT 10% 90 o &1 3 |, =
Tt GRS H & STIR, SYR o | A% 39
FO1 1 3 M it fhwl o g 2, @ St
fre forat grit?

1
A tree increases annually by 3 th of its height . By

how much will it increase after 2 years if stands
today 64 cm high?

@ﬁglaﬁﬁmﬁéwéww%

2 aut # Fg fowaT ag smom, At IWHT FdHE
SR 64 T R

The least number of completed years in which a
sum of money put out at 20% C.I. will be more than
doubled is

20% 9fd o FT W H FA  FH fhad a0 H FE
YR W & A AT 9 e = S ?

1
A man borrows Rs. 4000 from-a bank at 75%

compound interest. At the end of every year he pays
Rs. 1500 as part repayment of loan and interest. How
much does he still /owe to\ the bank after such
installments?

T TR sk W/ 4000 . 7%%%@5@@1&«

SUR oIl 31 Yo oY % o H 98 1500 T G &
9T SR S 1 foREd & w9 § g ¢l TE A
forcdi & & off o1l SH forert Ul S W eiR
& R

If in a certain number of years Rs. 3000 amount to
Rs. 4320 at compound interest, in half time Rs. 3000
will amount to:

7% 3000 T. FS I | THI(G TS W 4320 %. &
ST, @ osHW oM etafy ® 3000 T R @
ST

Rs. 3757 is to be divided between A and B such that
A’s share at the end of 7 years may be equal to B’s
share at the end of 9 years. If percent be 10% per
annum compound interest, B’s share is

3757 T. ! AR BH 30 YR afen ¢ f& 7 oo
# 3q W AT AN A9 AN ® Fd H BRI AN
TR B Sl AfE 10% 9fa a9 wshgfg & & R
g, B 9 ¥ HL

Sheela invested Rs. 8000 for 3 years at 5% CI
in a post office. If the interest is compounded
once in a year, what sum will she get after
3 years?

Sfre = 8000 T. 3 a9 & fow 5% Twgfg = &t
T W U2 AT | s ford | afs = anfies =1
T gAfoa foan < €, @ <8 3 9 9% fwRa |
frerm?
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89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

The compound interest on Rs. 3000 for 3 years at
12% per annum compounded annually is

3000 & TR 3 T HT 12% AR X ° Thdlg ==
@ i

The compound interest on Rs. 20480 at 6.25% per
annum for 2 years 73 days, is:

20480 T. W 6.25% afR T W 2 o8 73 T @1
THglg =S AG H

A sumbecomes Rs. 1352 in 2 years at 4% per annum
compound interest. The sum is :

WIS O 2 TU H 4% AR Tehdig A H X R
1352 % & ST ©1 Ao FI i)

The present population of a city is 18000. If it
increases at the rate of 10% per annum, its
population after 2 years will be:

foRet wet ®T Idum SHEEA 18000 ?1 A T@
10% A & X F q@ @ 2 T8 a5 SHEE F
B ?

The eompound interest on Rs. 5000 for 3 years at

8% for first year, 10% for second year and 12% for
third year, will be :

5000 ¥ W 3 9¥ 91§ wehgfg S F1 Bhm, (Afg
et o T I 8%, O AW\ T I 10% AT FrER
9w 12%) B2

Rs. 50000 is borrowed at CI at the rate of 1% for
the first year, 2% for the second year and 3% for

the third year. Find the amount to be paid after 3
years.

50000 % B Y 1% St X W, W AW 2%
aftieh X W qeN AW a9 3% Afdw T U Th(S
S R 3UR fed ™, 3 99 9] 3@ oA fwma
B2

The compound interest on Rs. 10,000 in 2 years at

4% per annum the interest being compounded half-
yearly, is :

10000 & W 2 T4 & AU 4% anfier X W =hafs
SIS BT, AR A SGaties qasa e’

Find the compound interest on Rs. 8000 at 8% per
annum for 2 years, compounded half-yearly.

8000 T. W 2 I & oW 8% ANt R W THhglG
S F1 BN AR A Agais G g2

Sudharshan invested Rs. 15000 at interest of 10%
per annum for one year. If the interest this

compounded every six months, what amount will
Sudharashan get at the end of the year?

e 15000 & 10% @it <X R Faer e 2l
AT Twglg =N STGanus qaisa &, a1 gee
FI 9 ® T J fRaT o7 g gm?

Sarita invested Rs. 6250 at the rate 4% per annum
for one year. If the interest is compounded half-

yearly, then the amount received by Sarita at the
end of the year will be:

99.

102.

103.

104.

100.

101.

105.

106.

107.

108.

T 6250 F. 4% Atk < R Fraer wdt 21afg
THhas @ A e @, @ gee w
9 & ofq H fRaT o= U gm?

Rohan invested Rs. 80000 at the rate 10% per annum
for one year. If the interest is compounded half-

yearly, then the amount received by Rohan at the
end of the year will be :

A& 80000 %. 10% Atk X W Frae e 21 af
THgfG AN TgaMYE FaAlSd &, a1 gILH i
9 & ofd H fRaT o9 u gm?

The compound interest on Rs. 16000 for 9 months

at 20% per annum, if interest being compounded
quarterly, is:

16000 ¥. W 9 HIE HT 20% dH® T ¥ THI(G
=S @ B, afe s faaet gaftsa w2

Find the compound interest on Rs. 2000 at 12% per
annum for 9 months compounded quarterly.

2000 ¥ W 9 HIE H 12% AMMH T T THI(G
=S @ B, At = faaet gatsa w2

Find the compound interest on Rs. 1000 at 40% per
annum compounded quarterly for 1 year.

1000 %, T 40% =Afe & §\| = A1 farer waate
Thgfg =S F M2

Find the compound interest on Rs. 15625 for 9 months
at 16% per annum compounded quarterly.

15625 % W 16% itk 3 ¥ 9 #E 1 fommed
TAISIq Thglg S &1 T2

What does Rs. 250 Jlamount to}in 2 years with

compound interest at the rate of 4% per annum in
the first year and 8% per annum in the second year?

250 %. JAHT A1 2 99 H fH5eA = 80 AfE Tee
Y TRl AN FI X 4% T T W 8% BI?
At what rate per cent per annum compound interest,
will Rs. 2304 amount to Rs. 2500 in 2 years?

form i wwafs T &1 R ° 2304 & H
fagem 2 99 /2500 . = S

If a sum of money compounded annually becomes
1.44 times of itselfin 2 years, then the rate of interest
per annum is

I ®1E 9 2 99 B @WF HT 1.44 T F TE A
Tl A hi At R forat gim?

Rs. 8000 invested at compound interest, gives
Rs. 1261 as interest after 3 years. The rate of interest

per annum is:

8000 %. 3 9% 9] THFG AN & €I H 1261 %
2 | =S T A T ?2
A sum of Rs. 5000 amounts to Rs. 6050 after 2 years

at compound interest, if interest is compounded
annually. What is the rate of interest per annum?

T ¥ 5000 T G 2 T H 6050 %. B Sl 2
whdlg TAS HI At <X fehat 22
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109. A sum of money on compound interest amount to [ 119. A sum of money becomes just double at compound
Rs. 9680 in 2 years and to Rs. 10648 in 3 years. interest in 5 years. In how many years it will be 8
What is the rate of interest per annum? times itself?
T o 2 T F 9680 T. 7 3 A | 10648 T. & T o Th(S S F TH FAET W s
S 21 TRy S H aiftE A 82 # @R T B S 2 e # ww g
110. Rashiinvested Rs. 16000 for two years at compound = SrE?
interest and received an amount of Rs. 17640 on | 120. A sum borrowed under compound interest doubles
maturity. What is the rate of interest? itselfin 10 years. When will it become fourfold itself
Tl 16000 %. 2 o % fou wFafg A< F1 TH at the same rate of interest?
fAfvem @ W S w ® A T 17640 TageH FIE ¥ TG A BT T A W 10 o
T FA | SIS I AMF T 2 ¥ @ 1 T S 2 e o H o 4 T
111. A sum of Rs. 2400 amount to Rs. 2646 in 2 years. Tl T2
Find the rate of compound interest per annum? 121. A sum of money placed at compound interest
FE U9 2400 T T 2 99 H THIE S F E doubles itself in 6 years. In how many years will it
RIS T W 2646 7. B W 1 yfve amount to 16 times itself?
forarft &7 FE o TRIlE TN F T e W 6
112. Inhow many years Rs. 3000 amount to Rs. 5184 at ik Eh: ST & S 2 T 7 7 16 T
20% per annum compound interest ? 31 ST
fRa-ad § 3000 T T AT 20% AR THIE 122. A sum of money becomes eight times of itself in 3
years at compound interest. The rate of interest per
S i X W 5184 T. B SEM? annbm is
113. Inho(\)zvmanyyears will Rs. 2090 ammint toRs. 2420 FE o TeHahE A F T FRET W 3 9 5
at' 10% per annum compound, interest’ w7 1 8 T B ST 3 i S R fEa S
AlS IE{%H 10% il RS F = 123. A sumof Rs; 12000 deposited at compound interest
W e ad | 2420 T 1SR becomes double after 5 years. How much will it be
114. In what time will Rs. 1000 amount to Rs. 1331 at | after 20 years?
20% per annum, compounded half yearly? 12000 %. gl =t i T fAfved W 5 99
10006.%@%20%&@%%@{%%3%' H 3T B W 2120 T 9% 3R fAseE o g
R W fha = 1331 = & SEm? 124., The difference between compound 'interest and
115. In how many years will Rs. 400 amount to Rs. 441 simple interest on Rs. 2500 for 2 years at 4% per
at 5% compound interest? annum is
400 T. T AT 5% STHh TehaiG TS FI T T 2500 T. TAUT T2 TG H 4% Ak X T ahd(5
foree o § 441 % @ SR S SR WHRY = FH SR R 22
116. Inhow many years will a sum of Rs. 800 at 10% per | 125. The difference between the simple and compound
annum compounded semi-annually becomes interest on a certain sum of money for 2 years at 4%
Rs. 926.10? per annum is Rs. 4. The sum is
800 %. T TAYF 10% aATdd X ¥ FThglg = fordt o9 W 2 I8 HT 4% AR AN B R I
i W R Fra T 7 926.10 % = ST, A% = THI(g A AR RV A HT AW 4 % 2
Tgalyw g 2?2 Here feha 27
117. A sumof money doubles itself at compound interest | 126. If the difference between S.I. and C.I. for 2 years
in 15 years in how many years it will become eight on a sum of money lent at 5% per annum is Rs. 6,
times? then the sum is
HIE o1 THIfG A FI TH AEd W W 15 a9 fordt o= W 2 T HT 5% AR AN B R I
¥ @E &1 @ W ) R o § g 8 T TG A 3R RO = 1 S/ 6 . T, ol
B SE? qE HAUT A H
118. A sum of money at compound interest amounts | 127. Ifthe difference between the compound interest and
thrice itself in 3 years. In how many years it will be the simple interest on a certain sum for 2 years at
9 times itself ? 8% per annum is Rs. 32, then the sum is
aﬁémm@maﬁ@ﬁﬁaﬁqq’{}a‘sﬁ Wmm2aﬁaﬂ8%mﬁmmaﬁﬂﬁ
o o o T g S 21 foren o o 7 9 TG T SR R S F1 R 32 % 8, A
= Sm? IE A T T2
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128.

129.

130.

131.

132.

133.

134.

135.

136.

The difference between compound interest
(compounded annually) and simple interest on a sum
of Rs. 1000 at a certain rate of interest for 2 years is
Rs. 10. The rate of interest per annum is:

1000 & TR et ffvea & 2 a9 &1 Iwafg
ST SR GRS 1 W 10 & 21 A
FffeR X feart &2

The difference between the compound interest and
the simple interest on a certain sum of money at

4% per annum for 2 years is Rs. 1.40. Find the
sum

et o9 W 2 T F 4% AR A H R G
whalg S SR HHNO =S o1 e 1.40 . 2
HeAeH fehe 72

Find the difference between the compound interest

and the simple interest for the sum Rs. 625 at 8%
per annum for 2 years.

625 %. TAYT W 2 FY T 8% SAMMHF I T ThalG
S 3R FWENO A 1 S fohe 22

Find the difference between the simple and compound
interest'on Rs. 8000 for 3 years at 5 percent.

8000 T. FETHT W 3 T 1 5% ANMteh I R FhaG
1S R GIIRUT 311 1 AR R 22

On what sum will the difference between the simple
interest and’compound interest for 3 years at 5 per

cent per annum amount to Rs 12.20?

fRel o W 3 I &1 5% Al oS @i & °
wThaTg A 3R HHROT <1 T SR 12.20 T. 2
AT A H 7

The difference between compound interest and

simple interest on a certain sum of money for 3 years
at 5% per annum is Rs. 122. Find the principal.

fFet v W 3 T & 5% AME A H W W
whdfeg <A 3R WIEROT <A T 3 122 %, @
qauA TR 87

The difference between compound interest and
simple interest on Rs. 10000 for 3 years at 5% per
annum is :

10000 & HA¥T W 3 T AT 5% AR W W
TG AN SR HHRU =4 1 S TR 82
On what sum does the difference between the

compound interest and the simple interest for 3 years
at 10% is Rs. 317

et o W 3 a9 & 10% e e w9
whdfg = 3R HENT &40 &1 3@ 31 & 2
qauA foha 87

What will be the difference between simple interest

and compound interest on Rs. 2000 after three years
at the rate of 10% per annum?

2000 & FAYT W 3 TH HT 10% a6R L W
halG AN SN WIS 1 R Teha €2

140.

141.

137.

138.

139.

142.

143.

144.

The compound interest on a certain sum of money
invested for 2 years at 5% per annum is Rs. 328.
The simple interest on the sum, at the same rate and
for the same period will be

fordt o W2 99 # AU 5% aftfes | W THhg(s
S 328 & 31 S o W GHA L AR THH TG
% fau wumer = @ gm?

If the compound interest on a certain sum for 2 years

at 4% per annum is Rs. 102 the simple interest at
the same rate of interest for two years would be

fordt o W 2 99 # AU 4% aftes | R TH9g(S
S 102 % 81 SE o W gUE AR 99 99
% fau wumer = @ gm?

If the compound interest on a certain sum for two

years at 12% per annum is Rs. 2544, the simple
interest on it at the same rate for 2 years will be

frdt o9 W 2 T8 & fau 129 @ftfes W W
whdlg AN 2544 % B IEH ¥ W gHH T 3N
THH T9Y & AU TEReT SIS S B

The compound interest on a sum for 2 years is
Rs. 832 and the simple interest on the same sum at
the same rate for the same period is Rs. 800. What
i§ the rate of interest?

feet o9 W 2 ¥ & fau fee ffted @ w
Thdlg oI 832 % €1 SHI U9 T WA T 3R
THE HHA HT RV A 800 T &1 AW H R
ferat 27

If the compound interest on a certain sum for.2 years

is Rs. 105\and simple interest is Rs. 100, then the
sum is

g fordt ffyaa om W 2 a6 &1 wwafg =
105 %. 3R HERO & 100 . 21, @ o4 Tohe 2

A sumbecomes Rs. 2916 in 2 years at 8% per annum
compound interest. The simple interest at 9% per
annum for 3 years on the same amount will be

HIE o7 2 I8 H 8% aIfUw Thglg AN &I W W
2916 % B S 21 SH ¥4 W 3 a9 & fauw 9%
fYeh X 9T GIHROT AT 1 B2

The compound interest accrued on an amount of
Rs. 25500 at the end of three years is Rs. 8440.50.
What would be the simple interest accrued on the
same amount at the same rate in the same period?
25500 % AU W 3 96 HT Fhalg AT 8440.
50 % ¥ SE oF W EHA gud % fou ofR wEe
R Y FERU A 1 2

A certain sum of money amounts to Rs. 2420 in
2 years and Rs. 2662 in 3 years at some rate of
compound interest, compounded annually. The rate
of interest per annum is:

FE UF 2 a8 H 2420 % 3R 3 a9 H 2662 % B
ST B| Whglg oA & aifter & fRa €2
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145. A sum of money becomes Rs. 3600 in 2 years and | 153." Divide Rs.. 1301 between A and B, so that the amount
Rs. 5184 in 4 years on compound interest. Find the of A after 7 years is equal to the amount of B after
rate of compound interest. 9 years, the interest being compounded at 4% per
% o7 2 o F 3600 T 3R 4 o F 5184 ® @ annum. Find the part A. .

ST %1 TRgfE A # At X fRa $2 1301 % 1 A 3R B, ® 36 YR el a1 fo 7 o

146. A sum of money amounts Rs. 800 in 3 years and I A 1 g, 9 99 91X B T fAgeE SR @
Rs. 840 in 4 years at compound interest. What is S| AfE TRl AT FT I 4% AMMH & ql A Bl
the rate of compound interest per annum? amr foRaer 22
T o[ 3 a8 | 800 % AR 4 9 § 840 %. T W | 154. Divide Rs. 15494 between A and B so that A's share
2| Thglg oA 1 Al & fehat 2 at the end of 9 years may be equal to B's share at the

147. If a certain sum on compound interest becomes end of 11 years, compound interest being 20% per
Rs. 2000 in 2 years and Rs. 2200 in 3 years, find annum. Then A's share is : .
rate of interest per annum 15494 F. & A 3R B, g T YR 9Iet TR 9 L
HE o 2 a8 F 2000 T SR 3 A F 2200 T. @& AR A 1A, 11 9 9= B W g & s
ST 21 THafE A F AMiE X R 2 =l AS ThIG S 1 T 20% A1 & A A 1

148. An amount of money appreciates to Rs. 7000 after W e 72
4 years and to Rs. 10000 after 8 years at a certain | 155. Divide Rs. 1105 between A and B, so that the A’s
compound interest compounded annually. The initial share at the end of 5 years may equal B’s share at
amount for money was : the end of 7 years, compound interest being at 10%.
FIE o Thedlg A F Tk e W 4 1105 & 1 |A 3R B, ® 3@ YR sitew f&F 5 o
H 7000 %. 3R 8 = H 10000 %. B Sl &1 JeAoH X AT 9T 7 I K B ® A0 & 9K F AR
foham 22 THIfS TS F R 10% TMfw &1 d A IR B

149. The sum ofimoney that yields a compound interest o fee &7
f’f Rs. 420 during the second year af 5% perannum 156, A sum of money’is borrowed back in'two annual
is

. g 1
F7 o S Y, Fr {Fﬁ 5 FT 5% TMEF | 1nsta11menfs of Rs. 338 each allowing 85%
W THIhG A 420 T. 2 compound interest. The sum borrowed was :

150. A sum of money invested at compound interest foreht o9 = 81%—‘;”&;35 THIE TS F W W
amounts to Rs. 650 at the end of first year and 3 —

Rs. 676 at the end of second year. The sum of money 338 % Wl o oifYew foRedl o geh TN, STl 1 o

is: feper 22

HTE oF Tecd a¥ % 3Fd | 650 T 3R T ¥ &% | 157. A man borrows Rs. 21000 at 10% compound

Y 676 % B ST R EGER foram 22 interest. How much he has to pay equally at the end
of each year, to settle his loan in two years?

151. A moneylender borrows money at 4% per annum
and pays the interest at the end of the year. He lends TH AR 10% THIE TS FT T T/ 21000 T
it at 6% per annum compound interest compounded IUR @ 21 IW HO gEH # faw ufa o fean
half yearly and receives the interest at the end of O &[T AMeT?
the year. In this way he gains Rs.. 104.50 a year. The 158. A sum of Rs. 16400 was taken at the rate of 5% per
amount of money he borrows, is annum to be paid back in two equal annual
T IR 4% ATMHF W T & IR oAl ? 3R a9 installments. Find the value of each installment.

F o § S @ €I 6% TGAIE RS 16400, . 5% A =THILE = F [ W A
S TR oA o SR A F o § e TR At el & gm 1 g e 1 e
feam 59 YRR 9% TH a9 § 104.50 T. =6l 2 frar 22

e mn om fea en? 159. A builder borrows Rs. 2550 to be paid back with

152. The compound interest on a certain sum for two compound interest at the rate of 4% per annum by
successive years are Rs. 225 and Rs. 238.50. The the end of 2 years in two equal yearly installments.
rate of interest per annum is : How much will each installment be?
ferdht fafead o W < AT o & s = T foeet 1 2550 ., 4% it wehdfs = &
FHT: 225 F. SR 238.50 T. F| =AW Y AMF T RW Qo < R AF o § ghe
et 37 % fRed 1 WM fRa 27
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1. Rs. 612

6. Rs. 311.90
11. 5%

16. 9 years
21.Rs. 162
26. Rs.1000
31.12.5%

36. Rs. 43680

41. Rs. 408
46. Rs. 6006
51. 100%

56. 10%

61. Rs. 4.405
66. Rs. 15000
71. 2%

76. Rs. 10000

81. Rs. 625

86. Rs. 3600
91. Rs. 1250
96. Rs. 1358.86

101. Rs. 185.45

106. 20%

111. 5%

116 ll ears
. 2}’

121. 24 years
126. Rs. 2400
131. Rs. 61
136. Rs. 62
141. Rs. 500
146. 5%

151. Rs. 5000
156. Rs. 600

2. Rs. 303

7. Rs. 787.50
12. Rs. 3000
17. 16 years
22.Rs. 250
27. Rs. 16000
32.25%

37. Rs. 15625

42. 5%
47.Rs. 1613
52. 8%

57. Rs. 8000
62. Rs. 1.50
67. Rs. 104.05
72.Rs. 500

77.Rs. 61

82.Rs. 726
87.Rs. 1700

92. Rs. 21780
97.Rs. 16537.50

102. Rs. 464.10

107. 5%

112. 3years

117. 45 years

122. 100%
127. Rs. 5000
132. Rs. 1600
137.Rs. 320
142. Rs. 675
147. 10%

152. 6%

157. Rs. 12100

ANSWER KEY
3. Rs.1576.25 4.15%
8. Rs.15360 9. Rs.2400
13. Rs. 1280 14. 12 years
18. 30 years 19. 3 years
23. Rs.5000 24.Rs. 1683
28. Rs. 4800 29. Rs. 200000
33. Rs. 4050 34. Rs. 8601.90

38. Rs. 20280

43.Rs. 615.125
48.Rs. 112.50
53. Rs. 6889
58. Rs. 3310
63. 2 years

68. Rs. 5000
73.Rs. 2

78. 6 years

83.17 cm

88. Rs. 9261
93. Rs. 1652.80
98. Rs. 6502.50

103. Rs. 1951

108. 10%

113. 2 years

118. 6 years

123. 192000
128. 10%

133. Rs. 16000
138. Rs. 100
143. Rs. 7650
148. Rs. 4900
153. Rs. 676
158. Rs. 8820

A_25

39. B 256

44. Rs. 464.10
49. Rs. 8000
54. Rs. 9261
59. Rs. 6250
64. Rs. 231
69..Rs. 1260
74.Rs. 7

79. 100%

84. 4 years

89. Rs: 1214.784
94. Rs. 53055.30
99. Rs. 88200

104. Rs. 280.80

109. 10%

114 1l ears
. 2}’

119. 15 years

124. Rs. 4
129. Rs. 875
134. Rs. 76.25
139. Rs. 2400
144. 10%
149. Rs. 8000
154. Rs. 9144
159. Rs. 1352

5.4%

10.
15.
20.
25.
30.
35.

40.

45.
50.
5S.
60.
65.
70.
75.

80.

85.
90.
9s.
100

105.

110.

115.

120.

125.
130.
135.
140.
145.
150.
155.

P=Rs.625,r=4%
24 years

3 years

7%

Rs. 32000

Rs. 1352

Rs. 1537.50

Rs. 244.832
6 years

Rs. 205

Rs. 1891.50
Rs. 463.12
Rs. 81.60
Rs. 600

129%
3

Rs. 123.75
Rs. 2929

Rs. 824.32
. Rs. 2522

4=%
6

5%

2 years

20 years

Rs. 2500

Rs. 4

Rs. 1000

8%

20%

Rs. 625

Rs. 605, Rs. 500
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